BRX—Ik1 (A4

SH6ES5 AN

SLSATERKE (REME) KEARBERBRESE (Ef)

FKEFRE 9:00

KERXBRHEERE ERSKSE BKHF 7K )
=] Xig | [UR | KB |& E| pH [FILAY BEE | BF |8t | & 8 & =
E REW | 1A HY
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 21.0 17.4 8.0 7.93
2 & 16.2| 16.1 9.4 17.79
3 i 18.8| 16.6 25.1 7.64
4 iE 22.00 11.7 12.9] 7.74
5 i 21.5] 17.8 8.1 1.74
6 g 22.00 18.2 6.6| 7.84
7 [55] 19.3] 16.3 5.8/ 7.84] 49.8/ 66.4 137 5.00 0.17] 0.03
8 E 20.3] 17.4 6.4 7.86
9 = 13.8 17.5 6.0 7.94
10 & 17.2| 16.7 6.6| 7.82
11 i 19.9] 17.3 10. 1 7.85
12 £ 21.5]  18.3 10.9] 7.88
13 [55] 20.2| 17.5 5.9 7.82
14 £ 17.0 15.7 8.0l 7.60
15 i 21.00  17.1 43.9] 7.713
16 £ 20.0 17.5 23.5| 1.75
17 i 21.0] 18.0 24.6| 7.77
18 i 24.01 18.4 19.2| 7.83
19 = 20.5| 18.0 12.5| 1.70
20 £ 17.2] 16.3 8.2 7.70] 45.9] 62.1 159 5.0 0.11] <0.02
21 i 22.00 17.4 89.7| 7.56
22 £ 22.00 19.0 4a1.00 7.72
23 = 20.9| 18.0 200, 7.76
24 £ 22.5| 18.0 19.3] 71.72
25 = 22.0  19.2 13.6| 7.71
26 i 22.00 19.4 10.0| 7.77
217 = 22.8 17.9 7.4 7.79
28 [55] 22.00 18.7 12.8 1.78
29 = 20.8 18.1| 406.8| 7.73
30 i 23.3] 19.8| 218.0 7.77
31 [55] 19.0] 18.1 95.1 1.73
Ty 20.4 | 17.7 38.8 | 7.77| 47.9 | 64.3 148 50| 0.14| 0.02
4= 24.0 | 19.8 | 406.8 | 7.94 | 49.8| 66.4 159 50| 0.17 | 0.03
=IE 13.8 | 15.7 5.8 | 7.56 | 45.9 | 62.1 137 50| 0.1 0. 02




BRX—Ik1 (A4

SH6ES AL

SLSATERKE (REME) KEARBERBRESE (Ef)

FoKEERE 9:00

KERXBRERE (BRAKSE BKt GRK) )
=] Xig | [UR | KB |& E| pH [FILAY BEE | B |8t | & 8 & =
E REW | 1A HY
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 21.0 17.3 2.1 7.51
2 & 16.2 17.0 1.4 7.52
3 i 18.8 16.5 2.4 7.38
4 iE 22.0 16.5 1.8/ 7.40
5 i 21.5 17.1 1.3| 7.46
6 g 22.0 17.5 1.6/ 7.50
7 [55] 19.3 17.4 1.2| 7.50 45.9| 63.0 141 5.0 0.06] <0.02
8 E 20.3 17.3 1.7 7.59
9 = 13.8 16.8 1.7 7.62
10 & 17.2 16.8 1.6] 7.52
11 i 19.9 16.2 1.8/ 7.58
12 £ 21.5 17.0 1.6| 7.51
13 [55] 20.2 17.4 1.4 7.56
14 £ 17.0 16.7 1.9  7.37
15 i 21.0 16.8 1.7 7.46
16 £ 20.0 17.0 2.2 17.38
17 i 21.0 17.5 1.7 7.45
18 iE 24.0 17.4 2.3 7.49
19 = 20.5 17.2 1.7 7.44
20 £ 17.2 17.2 1.6 7.50 42.4/ 64.0 147 5.4 0.03] <0.02
21 i 22.0 17.2 1.9  7.29
22 £ 22.0 17.8 1.3 7.40
23 = 20.9 18.3 1.6 7.41
24 £ 22.5 17.8 2.2 7.39
25 = 22.0 18.4 1.6 7.44
26 i 22.0 19.3 1.5  7.51
217 = 22.8 18.8 1.5  7.52
28 [55] 22.0 18.5 1.3 7.48
29 = 20.8 18.7 1.9 7.47
30 i 23.3 19.3 1.1 7.29
31 [55] 19.0 18.5 2.3 7.36
Ty 20.4 | 11.5 1.7 7.46 | 44.2 | 63.5 144 5.2 | 0.05 | <0.02
4= 24.0 | 19.3 24| 7.62| 459 | 64.0 147 54| 0.06 | <0.02
=IE 13.8 | 16.2 1.1 7.29 | 42.4| 63.0 141 5,0 | 0.03 | <0.02




